(BYLS
[ E| SHA .
7 T —) T —) A s
o ST S st | TE | & [ FHE | 5 [ THRE | o [ TR | o [ FERE M=
i 3oz M| gy |o2|u| n or|u| 8 oz g || Y
olzer 2 |2 2 2
REER 2 2 2 2
o e EEy 2 | 2 2 2
L
ERNEEE: 2 | 2 2 | 2
27 422122 2 |2 862
HodEx|2 33 3[3 At
QIZtA S AL 2HE 313 313 Arg
A2 S X7 E 313 3.3 Arg
BMNgE 3.3 3]3 EE
Afe|EXZ2OZNUIEIE 3 | 3 3.3 Atd | EE
X GA2 S X2 313 313 At
BHusdYE 313 3.3
A2 S X EHME 3.3 313 At
BHdusddE 313 3.3
HEERE 3.3 3] 3 A
AL S X A b 313 313 Arg
=H AL SX| 2 3.3 3] 3 At
x| AHEEALE 3 3 3] 3 A
s AEIERYE 33 33 A
© ABl =R ZALE 33 33 A
g Pt L b T 313 313
2 [ AEEXANE 33 3|3 AE
M| SRS 3 3 3 3 | AE
guuge 313 3.3 At
LomgE 3 /3 3|3 R
HAECAE 1 1 1 1
LoIEX|E 3]3 3|3 At
BURSHE 3 3.3 3 EE
A2l SXEHY|EE 3.3 313 Arg
AolstE QMG 3 /3 3|3 ZH
FENEE, 3 [ 3 3 (3 B
SEEEY 3 /3 3|3 R
LR 33 313 gy
27 15 | 15 21| 21 25|18 | 7 |21|18| 3 |8 |75| 7
Y H2dR8EAE) 313 3|3
g EERIEAE) 313 3.3
nz ARSI 2 33 33 6| 6
EY 19 | 17 23 | 23 2518 7 [23 20 3 190|819
2 kTS 412121212 2 |2 81 6 | 2
HautEs] 15 [ 15 21 [ 21 25|18 7 [21 18 3 [8[75[ 7
DA 19 117 23 | 23 2511817 [23 2013 190/8119




e - . —
o L= LNk = o XA
2023 —|I- _E — X| —|I-_I_ JT—:TJ_—”- o
(GE=IED))
Eis pis] = o=
2 9] 257 1] 2] A KZES T
. oo g of [ AR | 8 [ TR | of [ ZIARE | o [ TP | of | FEAE [BEENuem
= o oelua] y [o2]ua] 5y [o2]us| 5y [o2]us| 5y loz[us| 4 T2
orgares 2 | 2 2 | 2
LR 2 2 2 2
S [axrgE YN E g T 2 | 2 2 | 2
2 Tofolciofg® 2 2 2 | 2
o En | 4 2 2 2 2 2 2 8 6 2
SEEENES 3 3 3 3 AbA
OIZH = ThAFS| 2+ 33 33 AE | 24
NEESHH 3 |3 33 AE
ots0|= 3 3 3 3 24
Al EX| 2O SAE 3 | 3 33 AR
EREERE 3 3 33 AE | =4
2ERIIHE 3 3 3 3 24
AE|E R HAE 3|3 33 AE
g gopect 3 3 33 e
JIIEEXE 3 3 3 3 A | B
ISP FIRNES 33 3|3 AP
TR AR S X E 3 3 3 3 AbM
M RHAEAE 3 3 3|3 AR
- [ARERREE 33 3|3 AFE
S NS 2R ZALE 3|3 33 AP
ot oz oHE A 3 3 3 3 2
o |ARIEXAHE 3|3 3|3 AP
MBI ER A 3 3 3 3 A
UL E 3 3 3 3 ARM | BN
A X = 3 3 3 3 24
HAEC|Rtel 1 1 1 1
LoIEXE 3 3 3 3 AbM
245 3 3 3 3 24
ASlERAHT |2 E 3|3 3|3 AE
HSWAIR 33 313 =g
2= 3 3 3 3 2
FRotuHE 3 3 3 3 24
oS 48X| = 313 313 CE
27 15 | 15 21 | 21 25118 | 7 |21 18| 3 |8 | 75| 7
otE Aot X (%) 303 33 2y
B8 50X 2 (A1) 303 33 2y
T oS TEAYE XL (AT 33 33 wm
HENMIZ 24 6 6 3 3 9 9
27 19 | 17 23 | 23 2518 7 |23 /20 3 |90 81| 9
. LMETHA 4 2 2 2 2 2 2 8 6 2
M3 15 | 15 21 | 21 25118 | 7 |21 18| 3 |8 | 75| 7
nESA 19 117 2 | 23] 23 25118 | 7 | 23120 3 |90 |81 ] 9




